Name Rlock Schoal

Adaefr 2 DISTRICT COMMON ASSCSSMENT 3

Directions: Show all work ON thiS paper. when completed,
transSEer Yyour answers onine.

| Find the value of the expression. 2. Find the value of the expression.
T VT

4 Mutiply (Va - 2)a + 2).

a) a-2
2 Dy o) ot -2
b 23 c) a-H
c) 3><3\/ d a4
d %S
5 Whh o the Rlowrg s et fo +2 E ’ o I;‘ﬁﬁg”ii';iiz Vi has veen frandlated fq:g;m
of the Trandated graph?
2 a) y=3+/x+4
b) ig b y=d-+vx+3
ﬁZ_ 1 O y=3-Ax
o Yo d y=-9+vx-3
d 5-2
7. The function a has domain x > 2 and range y < -1 6-0 on -l—o -l—he ne)(+ Page

Complete this sentence:

The domain of a—l S and the rangeis ______.
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8. Which graph shows the function £(x) = 3 + v/x ?
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9 Which of the following are real numbers? Select all
(three) that apph.

10. The volume of a cube is |.5m3. Find the length of its
edge to the nearest tenth of a meter.

Edge length=______ m

I Mothply: V2(24/0125 + v/1B) (Hirdk Use caleulator)

Produet= ______

2. Which of the following is an increasing function?

a) £(x) = W2
|
b) P(x)=x—2
¢) F(x)=1-+X
d) f(x) =1+ X

2. Let #(x) = VX and g(x) = 3 - x. What is the domain
of fog?

x> 3
x<3
x>3
x<3
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a a _28
-l_ 27X
b) a'= 2
c) a—l=%
d) al=x-4

5. Evalvate the expression 1/x2 + 2x + |l whenx = -5.
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6. Some values of £(x) are given in the table. Find the
valve of #7(0).

x | 0| 6 | 10




7. A cylindrical pape is 4 £t long and has a volume of

100 &2, Find the approximate diameter to the nearest
hundredth of a foot. V=Bh

188 £+

223+
33364+
370 &

.55

=

Radivs = ______ Diameter= ______

3
8. Solve (x +5)Z = (x - 3

19 What is the valve of x in \/x + vVx + 2= 27

=N — o —

20. A store offers a $30-0ff sale on bieyeles and a 10%
discount on the purchase price. Let x represent the
price in dollars, and let #(x) = x = 20 and
glx) = x = 010x - 0.90x represents the discounts. Which
function can the store manager use to find the final
price”?
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a) £+g9 ¢

a) fxg d)fog
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22. The volume of a sphereis V(r) = %‘I‘[Y‘g and the

radivs is increasing 2 mm per second. The function
r(t) = 2+ gives the radius at time 1 seconds. Which

function gives the volume ot fime 17

a) (Vorf)
b)  (ro V)
c) (r+ V1)
d (V-r)d)

23, Solve \/x? =x

a) Al values of x
b) Al valves of x|x > |
c¢) Al valves of x|x >0

d) Al valves of x|x < 0




